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TOPIC:                                    Trigonometry (Paper 2)					
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A small submarine dived in a straight line from a point 4 on the surface to examine an object at the
point ¥ on the scabed.
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It dived at an angle of 15° to the horizontal and reached W after travelling 50 m.

Calculate the depth, d metres, of the seabed at . 2]
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A marker is at the point M on the surface.
When at B, the submarine was 10 m vertically below M.

Calculate AB. 3]
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When at C, the submarine was at its nearest point to M.
(i) Find BMC. [
(i) Calculate CM. 2]




image8.png
A vertical flagpole, BF, stands at the top of a hill.
AB s the steepest path up the hill.
N lies vertically below B and ANB =90°.

([N=100m and 4B = 104m.

4 100 N
(a) Show that BN =28.6m.
(b) Itis given that FAN =25°,

(i) Write down the size of the angle of depression of A from F.
(i) Calculate the height, BF, of the flagpole.
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The diagram shows three other straight paths (CB, DB and ACD) on the hill.
The path ACD is horizontal and BAC = NAC = 90°.
CN and DN are horizontal lines.

(i) Given that 4C = 60m, calculate BCN.
(i) Given that BDN = 10°, calculate DBA.
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The points X, ¥ and Z are on horizontal ground.
XY=4km, XZ=17km and YXZ = 125°.

(@) Calculate YZ.
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The points P and Q arc the same height vertically above X and Z respectively.
(i) When an aircraft was at P, its angle of elevation from ¥ was 44°.

Calculate PX.
Give your answer in metres, correct to the nearest 100 metres.

(if) The aircraft took 2 minutes 54 seconds to fly from P to Q.

(@) The aircraft reached its destination 39 minutes 6 seconds after flying over Q.
The flight ended at 15 03.

At what time did the aircraft fly over P?

(b) Calculate the average speed of the aircraft as it flew from P to Q.
Give your answer in kilometres per hour.
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‘The diagram shows two ports, P and Q, and a lighthouse L.
PQ=20km, PL=17km, QPL=50° and the bearing of O from P is 075°.

(a) Find the bearing of P from L.
(b) Calculate OL.
(©) () Calculate PLQ.
(ii) Hence find the bearing of Q from L.
(d) Aboat leaves P and sails in a straight line to Q.

(i) It takes 4 hours and 53 minutes to sail from P to Q.
It arrives at Q at 0223.

At what time does it leave P?

(ii) Calculate the shortest distance between the boat and the lighthouse.
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